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Ut 10 YESTFED =B 37132 7kkskdskkkk621 3 s 61 8
Ut 10 ENE Bg 37132 1 kksktokokkok 5326 s 61 9
HU 10 KIEEE 5’8 37150 2skkksksokskk 8220 = 60. 2 10
HU 10 Bf& & 37233 0skkkskokokk 2468 = 60 11
HU 10 S 5 37030 3skkksksokskk 4218 5 59. 8 12
HUihi 10 k4 1% 5’e 37142 Tstokoksokskk 2820 5 59. 2 13
HU 10 S 3'e 37030 3skskksksokskk 0620 5 59 14
HU 10 R 5’e 37032 2skkksksokskk 6228 5 58. 8 15
i 10 T 5’8 3701 1 2skkksickoksek 742X FN 58. 8 16
Ut 10 BEF54E Bg 370883 kkskkkk%%0926 & 58. 8 17
0l 10 R 5 37018 Lisksstokskkk 301 1 B 58. 6 18
i 10 25T 7 3723305tk k6667 FN 58. 2 19
T 10 B & 370724 %kkkx4% 262 1 5 57.6 20
HUM 10 BN 5’8 370902k kskskksksk 2727 = 57.2 21
#Ui 10 FHEF 5’8 37142 5skkskkk%9 062 5 57 22
HU 10 I 5’8 37018 skskkstsiokskk 0349 5 56. 6 23
HU 10 2RI L2 370123 skkksksokskokd 417 5 55. 6 24
HU 10 FA& & 370785 %%k 572X s 55. 4 25
#HU 10 ke L2 37131 [ #sksksskokokok31 35 5 55 26
#Ui 10 i £’q 37018 skskkskokskk 5363 5 54 27
HUim 10 fif 42 5’e 370306k 058X 5 53.8 28
T 10 KBk i 370103 %kkskskskskok 886X NN 53.2 29
T 10 I E i 3711224 %kk880k0023 & 53.2 30
Hi 10 ik4 H @ 370303 %k:kskkkokok 7420 = 52. 2 31
HU 10 HE) 5 37032 3skskksksioksk k2010 & 50. 4 32
FUT 10 INEEE g'a 37092 | skkskkkkk 2724 75 49.9 33
HU 10 g 5°e 370123skksksickskskok (0524 5 49. 2 34
HU 10 e S <! 52020 1 sskskstekskskok 281X & 48. 8 35
ZU 10 131750 & 370682kskswkctokok 1 126 5 47 36
FUM 10 AR HT & 371202ksksksook 1 22X ¥ B 37
#U 10 T i@ 371102%ksskkskokskd 141 5 B 37
HU 10 7 4 37098 2skskksksiokskk 7688 5 Bt 37




i 10 EHEE S 7 370102555k %%4920 FD % 37
i 10 LA % 37132 lkskkokkx3719 FD % 37
HU 10 ZER & 370323 %kxkxkkkk3246 = Bt 37
#Ui 10 2R S 371482%kxk%%%4826 % e 37
#Ui 10 AR S 370683 %kskk x5k T227 % e 37
i 10 ZE A 7 370102skkk%%4529 & B 37
#m 10 X TR '8 371202%%k3k5%%682X & e 37
HU 10 X1 1k & 37292 5%kxxkk%%0045 5 B 37
FUM 10 L & 37098 3kskskkkkek 6920 5 % 37
Ui 10 ] © 37078 1kt 6740 5 Bk 37
#Uim 10 K s 370103%kxk555%2029 % e 37
#Uim 10 VTN % 370305k 242X 5 i 37
#Uim 10 INFZ % 3703045585421 1 FO i 37
#Uim 10 W) A 7 3712023k 034X 5 e 37
UM 10 FHFL « 372926tk k5448127 % R 37
FUM 10 FHE & 3T1402%kkkkkkk 7925 = B 37
0T 10 3 1 370322 k5555454926 % R 37
Ym0 | k& 5 3729264854846 639 75 R 37
FUM 10 i & 37080 2kkskkkkk 272X 5 B 37
YO 10 | s i 37048 skt 2624 7 R 37
0 10 FIER % 370783tk 3347 i R 37
Fm 10 et 5 410223557 138 & e 37
#Um 10 NS % 370883 %kkkkk4%k5523 i Bk 37
#Uim 10 JFE R 7 41032 THsksks4%964 1 % e 37
i 11 FHEAF by 370830%*kk%5%%3938 2 60 1
#om 11 K7 7 372924%kkk%54%452 1 %5 59. 8 2
w11 Tk 5 370687 k840076 % 55.8 3
i 12 AR % 370785354545 8970) S 52. 4 1
o 12 TRAEAS % 371122%%5%5%%0936 i 52. 4 2
T 12 LR 5 371428%k555%%2077 " 24.6 3
i 15 IR FFE % 37011 2%k TT13 2 69. 2 1
Hm 15 Wt b 7 37230 Lssksksrsso 1 420 7 66 2
i 15 B % 37142 Ttk 62 & 62.6 3
Ui 15 FOLE 5 37150258545 5579 & 53. 8 4
HUm 15 T hedE 7 370402s5%5554£0020 & 40. 6 5
i 15 YER L 130402skkst0k45:0938 % i 6
AU 15 LSS % 37032 seksktsiokskok 3046 & % 6
Ui 15 JEl 4= % 3701023554549 10 5 e 6
17 FIFERE % 370306%kkseksienk0020 & AR, BRI




Hi 17 TEH 7 3703053k 3742 & AL, B
HlTi 21 FEAT % 370102%%kk3k%%493 1 2 B, EEEEAIR
HITi 22 IS % 2207223843820 2 B, EEEEHIR
i 23 MR x© 362428 %kxk3k 457720 2 AL, BN AR




